N = 0l & At & Ml A

202238 & =0l & LBHSIH ATt AR A
A dot=Z A A
M OtE2aAd s
thel =& zZel 23 (9 ® =)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ASHe T AP A 29,241,090 25,791,396 3,449,694
= 8,076,000
< 9,399,100
= 11,765,990
otssS=A4E |2l 5,992,483 8,898,348 A 2,905,865
< 1,939,000
i 4,053,483
=&z 23 183,440 227,166 AN43,726
Il =2 A A 183,440 227,166 AN43,726
201 et 159,480 201,190 241,710
02 2=2Z 4l 159,480 201,190 A41,710
ontgax=E sklolgz
100,000& »23| & x12& 2,400
Olts&d=E =Z22ZM =82 157,080
TN 630
AL (HZ4682/801)
35,000 94 2 23] 630
— &= 156,450
-1hEs(etE) 55,000 *210H A #23| 23,100
1501 et = 85,0003 210K 2 33| 53,550
- 60 E = 380,000& *2100H A 13| 79,800
206 M= Hl 23,960 25,976 N2,016
01 =8l 23,960 25,976 N2,016
o2 2524 ¢ 12,000 *2100H 2 63 15,120
OFTAM IR L A% 2
5,500& *800A 4,400
OltdZY 0ol 22H 2¢
185,000& 2= 128 4,440
AT Al 310,000 305,000 5,000
< 39,000
e 271,000
AT S22 (Z8l) 130,000 143,000 A 13,000
< 39,000
e 91,000
307 glz2tol & 130,000 143,000 A 13,000
< 39,000
s 91,000
05 RIZIRI &t 3 130,000 143,000 A 13,000
OEHIEXAY 130,000
—0I24+E AL A (AALFTAL)
130,000, 000& * 14 130,000
< 39,000
s 91,000
A X2l (XHHl) 180,000 162,000 18,000




AN dot=SAFE A
M s A4E s
el A5 Alg2tel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 30,000 42,000 A 12,000
02 =224l 30,000 42,000 A 12,000
Odste=S AIZZ & 3H 30,000,000 14! 30,000
307 glz2tol & 150,000 120,000 30,000
05 RIZt2IE = 150,000 120,000 30,000
ODIZ44E U AR2ZHAE ®II2 X2
150,000, 000& * 14! 150,000
AT AENH 5,499,043 8,366, 182 A2,867,139
< 1,900,000
e 3,599,043
oS4 FANEFAY 2,150,704 2,000, 164 150,540
203 YR =&l 3,000 3,000 0
03 A Z=XH R =AY 3,000 3,000 0
O=& ABFEX 3,000,000& 3,000
401 AIEHI L 2 CHYI 2,147,704 1,997,164 150,540
01 A& HI 2,140,000 1,990,000 150,000
Oligds: 23RNES
5,000,000 *2000H 2~ 1,000,000
OXot=(2%) He 150,000,000& *37H £~ 450,000
OXIGt= OIEAEHEZALE S 100,000,000 » 14 100,000
O&=c 22 &XI(2)HL)
100,000,000& *20H A 200,000
Olts&=5 S ALY
2,500,000 2004 2 50,000
OlISadsE MESHES(/ATEI, 4EE
LI, LEUIIAIL) 10,000,000 *15H £ 150,000
O=2%3 wHd ¥ 2A 15,000,000 *109H £~ 150,000
O=s&8 A2YESLANELER £ A2 (ERE
254) 1,000,000 *40H £~ 40,000
03 Al 2 THHI 7,704 7,164 540
Olts&d+=& RAE= AERUHA L
2,140,000,000& *0.36% 7,704
A& JIBtAIE X3 AL 533,339 560,000 A 26,661
401 AIEHI L 201 533,339 560,000 AN 26,661
01 A& HI 530,000 560,000 30,000
Ooz=z ¥ =3 &4X, 2F N 530,000
—Ot® g5 22 AX(L=1km)
110,000, 000& * 14! 110,000
— 0t 23 2L 1
80,000,000& =14l 80,000
— A ME 2FEONY ¥ 22 AXI(L=0.5km)
70,000,000& =14l 70,000




2N dotSAY
Hm: 1224AE SAR2
el AT AENA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— N EBE 22 ¥ SsYH3 X 1A
50,000,000& =14l 50,000
—83 OEZ 2FNLE 1A
90,000,000& =14 90,000
—otol GtHl S804 ¥ Z2(S - His=2)
AX(L=0.4km), 22 HA 14 80,000
80,000,000& »14!
— Y s 2FML 1A
50,000,000& » 14! 50,000
03 Al =2 I 3,339 0 3,339
Oa=& JIBAIE X3 A AIERH B
530,000,000& *0.63% 3,339
AAL =25 =53 AIE g AlY XIS (MEArY) 2,715,000 1,857,000 858,000
< 1,900,000
e 815,000
401 Al HIZ 201 8] 2,715,000 1,857,000 858,000
< 1,900,000
s 815,000
01 A& HI 2,705,261 1,850,339 854,922
OnSd e AY 2,705,261
—ATRSE ESSAE HBAYG(HE)
1,900,000, 000& 1,900,000
< 1,900,000
—AAZEE SFIAIE JHEAS (XIEhy])
805,261,000 805,261
03 Al 2 THHI 9,739 6,661 3,078
OnSdEAY 9,739
—27AR4+SE SESAE JHSAL (XIHY])
2,705,261, OOO?_J 0.36% 9,739
NeaE ME 02 AMEHSAS 100,000 0 100,000
401 Al HIZ 201 Y] 100,000 0 100,000
01 A& HI 100,000 0 100,000
OXgasz M2 02 AMEMNEAY
500,000& 2002t = 100,000
of1 JHRSH Kot 2el 17,000 20,000 A 3,000
< 5,100
s 11,900
Kot el 17,000 20,000 A 3,000
< 5,100
s 11,900
Nots |2 AL 17,000 20,000 A 3,000
< 5,100
[ia 11,900
401 AIEHI L 2CHEI 17,000 20,000 A 3,000
< 5,100
s 11,900




AN dot=SAFE A
HE: oD RS Xsta 2el
Ehelr XISt 22l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 17,000 19,786 N2,786
OZHIEx= AL 17,000
— ot SFAUZ(LXB Ba=7)
17,000,000 =14l 17,000
= 5,100
[ia 11,900
ALa=Col A28 HEN 5 14,561,355 11,045,712 3,515,643
=2 2,332,000
< 7,260,000
i 4,969,355
ANYa=C e 10,891,715 8,294,712 2,597,003
< 7,260,000
e 3,631,715
SHEMEESNL (=SX2)(HEAY) 3,269,000 1,143,000 2,126,000
< 2,829,000
i 440,000
401 A& HIZ 2018 3,269,000 1,143,000 2,126,000
< 2,829,000
i 440,000
01 A& HI 2,979,131 1,041,648 1,937,483
OaEdEAS 2,979,131
~AENT S0E NWALT HEAY(HE
) 2,177,744,000& 2,177,744
= 2,177,744
— ST sHE YT SFSAS (XY
bl) 801,387,000 801,387
< 406,056
s 395,331
02 Zteltl 279,144 97,602 181,542
OZEXEAY 279,144
—+EXNT S0&E VYT HEAY AN
A 2tel 89 (&a) 211,256,000& 211,256
= 211,256
—x=sk7 SOHE N SSAY He
At 2tel 29 (XIedl) 67,888,000 67,888
< 33,944
e 33,944
03 A& 2 THHI 10,725 3,750 6,975
OaEdEAS 10,725
— =37 SHE XNgas=C SSAMY AL
SHZH (X)) 2,979,131,0002 +0. 36% 10,725
S8 M2 AtY 86,675 40,956 45,719
401 AIEHIZL 20 86,675 40,956 45,719
01 A& Bl 86,675 40,740 45,935
OfR=8 MIAMY AAZH 22 86,675




AN dot=SAFE A
M XNgasEo H2E AFH 25
chelr XgaxE Y (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—otolE(0l=2, &g, =X, L=3.7km)
750,000, 000& *4.49% 33,675
—otolE (&8, L=1.0km)
250,000,000& *5.2% 13,000
— =S8 (8Hs, L=1.2kn)
300,000,000& *5.2% 15,600
— N4H(EEFE, L=2.3kn)
500,000,000& 4 .88% 24,400
FrEA & NgadsE 2AEHH 2Y 500,000 0 500,000
401 AIEHI L 2CHEI 500,000 0 500,000
01 A& HI 500,000 0 500,000
OF+EM L NYHLE DYTHY S
500,000,000 =14 500,000
Aga+E =79 SFAY 920,000 480,630 439,370
401 AIEHI L 2 CHEI 920,000 480,630 439,370
01 A& Bl 920,000 477,390 442,610
OMASUE RSa+C HLAY AAZTEIH(S
CE Ol#ALR) 80,000,000& =14 80,000
ONga+T S5+ SHEFAY EXNBH(MEF
cd) 30,000,000& =14l 30,000
ONYALE T4 HFAY JI2 L A4l
EASA (G, F)(IHEE AHER)
9,864,600,000& *5. 17% 510,000
ONYALE S+ HFAY HAIZSY 7
=24 300,000,000 =14l 300,000
NYa==E =EHSI| OI&A 25,000 69,484 ANA44 484
401 Al HIZ 201 Y| 25,000 69,484 ANA44 484
01 A& HI 25,000 69,124 NA44.124
OXNaASE =ZHEI| 0l&8Ad
1,250,000& 200K 2~ 25,000
288 A8 X € SX2e 47,000 47,000 0
401 AIEHIZ 28I 47,000 47,000 0
01 A& Bl 47,000 47,000 0
OASHE A& (XAA]) 4,000,000 *20H 2~ 8,000
Oastd Z= 1,500,000 *200H 2 30,000
OAYBSLEXND &x U 22|
300,000 *300H & 9,000
ANgaa BLAY 830,040 40,432 789,608
401 AIEHI L 2 CHYI 805,040 40,432 764,608
01 A& HI 800,000 40,000 760,000
ONgasTA2E2s L SA2IME (H . =
 8) 300,000,000 » 14! 300,000




AN dot=SAFE A
M XNgasEo H2E AFH 25
S XNYah=E e (cho &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OYaxE JISAHELAL (HIAHSHO)
500,000,000 =14l 500,000
03 Al 2 THHI 5,040 432 4,608
Ogtda=E B2AY A2 3 I
800,000,000& *0.63% 5,040
405 XHoHF S HI 25,000 0 25,000
01 AL EZFH S 25,000 0 25,000
OASSEN(NYL+CHZY 2 |A22E)
25,000,000 = 1CH 25,000
+SotWAT sHEMEES HLAS (HEAL) 1,878,000 0 1,878,000
< 1,596,000
s 282,000
401 AIEHIZL 2 0] 1,878,000 0 1,878,000
< 1,596,000
s 282,000
01 A& Hl 1,711,473 0 1,711,473
OZEXEAY 1,711,473
—+SotRAT sHELESEHL M (HE
) 1,202,745,000& 1,202,745
< 1,202,745
—+SotLIT sHEHESH LA (XY
Hl) 508,728,000 508,728
< 256,945
[ia 251,783
02 2feldl 160,365 0 160, 365
OaEdEAS 160,365
—ASHINT SOHEMSTESLNLAY 2AM
A zel8d (e 112,255,000& 112,255
< 112,255
—=SotuiF SHEYUESIHNEMY AL
A tel & (R2dl) 48,110,000 48,110
= 24,055
s 24,055
03 Al 2 THHI 6,162 0 6,162
OZEHEAY 6,162
—+SEHDNT SHELBSLNLAY AL
LA (XEsl) 1,711,473,000& 0. 36% 6,162
HMEXR sHEMESS HEAL (HEAY) 2,836,000 0 2,836,000
< 2,410,000
i 426,000
401 A& HIZ 201 Y] 2,836,000 0 2,836,000
= 2,410,000
i 426,000
01 A& HI 2,584,525 0 2,584,525
OadEdE A 2,584,525




2N Aol AIE A
Y XA SEO U222 A B2
chelr XgaxE Y (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
—HAN T SOEMEES NZ A (AE)
1,814,481,000& 1,814,481
< 1,814,481
—HEN T SHEMBSS HEA (L)
770,044,000 770,044
=} 389,674
= 380,370
02 22l 242,170 0 242,170
OBSHEALY 242 170
TP SHEMBES LAY HAEA
A2 (NME) 169,519, 000& 169,519
o 169,519
— BN sHEMES S LAY HAEA
Aol (Xel) 72,651,000 72,651
& 36,326
= 36,325
03 AlE 21| 9,305 0 9,305
OdSNMEAY 9,305
—UEHXR SHEMBTES HLAY AR
CHAEHI(Xlgtdl) 2,584 ,525,000& x0.36% 9,305
N2ZEAX P sHEME 24 LAY (HEAIY) 500,000 0 500,000
= 425,000
= 75,000
401 Al HI L2 THHI 500,000 0 500, 000
= 425,000
= 75,000
01 Al&H| 454 173 0 454 173
ORENEAY 454 173
— A= E2AXNF SHENE2S HEAS (A
&h) 320,212,000 320,212
=} 320,212
— X2 AN SOHENE2SL HEAIS (X
gty ) 133,961,000 133,961
o= 68,616
= 65,345
02 2teld| 42,556 0 42,556
OdENEAY 42 556
—XT AN SHEMEES HLAY 2
Mg E2A(HE) 29,788,000& 29,788
= 29,788
— X3 E2UXNF SHEMES S LAY A
SAAS 22 A(XEH]) 12,768,000 12,768
& 6,384
= 6,384




2N Aol AIE A
BH: YALTO %S OGN B3
S XNYah=E e (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
03 Al&E 201 Y| 3,271 0 3,271
ORENEAY 3,271
— X2 82X sHEHES S NLAIE Al
SAEHAY (XEH]) 454 173,000 0. 72% 3,271
Xl ghAk 2= O 2 3,669,640 2,751,000 918,640
= 2,332,000
= 1,337,640
AQIE Zat2e|Hly HE ALY 338,640 0 338,640
401 AlEHIZL 2 0HY| 338,640 0 338,640
01 Al&H| 336,480 0 336,480
OADIE 22| HE HEAIY AAEHESE
950,000,000 *3.84% 36,480
OADIE 22|y HAE ALY
300,000,000 « 1Al 300,000
03 AlE 21| 2,160 0 2,160
OADIE 22 ZUe|HE HEAIY AIZE20HZE Y]
300,000,000 *0.72% 2,160
AQIE 2@ 2te| olTe) REAIY 3,148,000 0 3,148,000
= 2,204,000
= 944,000
403 XX SHS K20 & 3,148,000 0 3,148,000
=2 2,204,000
= 944,000
02 BI2SHUSRA=2EAEAISHI 3,148,000 0 3,148,000
O2HIEZAY 3,148,000
— AQIE 22 2g| QlZet REAY
3, 148,000,000& » 1Al 3,148,000
= 2,204,000
= 944,000
LEALUZ HUXIA 249 183,000 0 183,000
= 128,000
= 55,000
401 Al HI L £ 0HHI 183,000 0 183,000
= 128,000
= 55,000
01 Al& b 183,000 0 183,000
O2HEX ALY 183,000
—LBALRR HUZA B
183,000,000 = 14! 183,000
= 128,000
= 55,000
otE=& 22| 8,601,595 5,758,696 2,842,899
= 5,744,000
= 195,000
= 2,662,595




2N
X ZH -
L= B
el

2 (3 3AH) -

N2 A

01
o

Off &t 24

=

i
2m

HH A

8,601,595
5,744,000

195,000

,662,595

5,758,696

2,842,899

fel]

=2 HEHIBTLEUZ)

MW

,483,720
,673,000

810,720

2,533,120

A 49,400

4,520

4,520

2IdduEl
100,000 & 62 *52]
SHLELEIN MNRES F

1,520,000&

e =&

4,520
4,520

3,000

1,520

4,520

401 AIEHIZ 2 THYI

M H

,479,200
,673,000

806,200

2,528,600

A49,400

01 Al

03 A2 2 THHI
2

2 U= XNIAAS

1,951,106,000& 14!

23Hl X2 MY
519,200,000& * 14!

A=z E—J 2234l XA
2 6,000& *0. 36%

M

,470,306
,470,306

,951,106
,673,000

278,106

519,200
8,894
8,894

8,894

2,519,530

9,070

N49,224

A176

HH A

283,000

196,000
17,000
70,000

100,000

183,000

401 AIEBIZ S CHYI

RURL AT

283,000
196,000
17,000
70,000

100,000

183,000

01 A€ dl
O=HEx At

—sE3XF o=k

03 Al S THHI

AE EXISA
280,976,000& =14

MW

280,976
280,976

280,976

196,000
17,000
67,976

2,024

100,000

180,976

2,024




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O2HIBExZAY 2,024
—sSE8XF ot AE EX A
280,976,000 *0.72% 2,024
ot4=E9 AX 2 Z2(sH= OISot4S Zd|) (& 412,000 680,700 A 268,700
HXF)
= 323,000
= 28,000
= 61,000
401 Al HIZL 2 0HY| 412,000 680,700 A 268,700
= 323,000
= 28,000
= 61,000
01 Al&H| 409,054 676,438 N 267,384
O=2HBExZAY 409,054
—dEXNF St AIE EXZ2A
409,054,000 « 1Al 409,054
= 323,000
< 28,000
= 58,054
03 AlE £ 0HH] 2,946 4,262 A 1,316
OZHIEXZAY 2,946
—MAEXNTF Sl AlE EXZ2A
409,054,000& *x0.72% 2,946
ot AH| JI2HE MEH 249 200,000 0 200,000
401 Al HI L 204 HI 200,000 0 200,000
01 Al&H| 200,000 0 200,000
Oodt=T=&Hl JI2Ha EHE 849
200,000,000& * 1Al 200,000
ot=&o &AX & 2UZ|(ot=21 FH)(MAEXF) 778,000 714,000 64,000
= 619,000
= 159,000
401 Al HI L 2 0HHI 778,000 714,000 64,000
= 619,000
iy 159,000
01 Al & H| 773,129 709,530 63,599
OZHIEBEZAY 773,129
—AMAEXP otx=22 XA
773,129,000 « 1Al 773,129
= 619,000
= 154,129
03 AlE 21| 4,871 4,470 401
O2HEZAY 4,871
—ANAEXTF Sl=2Z AXASE
773,129,000 *0.63% 4,871
St ZeE (o BIGEHAANL USH) 1,489,000 715,000 774,000
= 1,187,000




2N
X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

M

38,000
264,000

401 AIEHIZ 2 I

MW

1,489,000
1,187,000
38,000
264,000

715,000

774,000

01 A& HI

Iot=HMelAE S#E5(58)MY

1,483,658,000& 14!

03 A2 2 THHI
O=3HIE=ALY

|8 S3ot=HelAE &5 (S4)AY

1,483,658,000& *0.36%

|,

F

10
e

ro

MW

1,483,658
1,483,658

1,483,658

1,187,000
38,000
258,658

5,342
5,342

5,342

710,524

4,476

773,134

866

H
10
x
ﬂ

=)
g

el (BHERIgt=Mel A8 ) (HEE2X

bl

=4

4o

UL RINY

1,908,000

1,446,000
86,000
376,000

429,000

1,479,000

401 AIEHIZ 2 CHYI

Mo

1,908,000
1,446,000
86,000
376,000

429,000

1,479,000

01 Al&HI
O=HIEX At

—UHEESXFP HEASH=HElAIE EXNAY

1,901, 155,000 14!

03 Al S THHI

t=XelAlE EXA
,901, 155,000& 0. 36%

|
o
H
>
Jy
P
1
2
o
0
— ol

Mo R

1,901,155
1,901,155

1,901,155

1,446,000
86,000
369, 155

6,845
6,845

6,845

425,934

3,066

1,475,221

3,779

Stacol X 2 2e(s0HE DiSot+E FUl) (2

HH W

429,000

300,000
26,000
103,000

429,000

401 AIEHIZ 2 I

HH A

429,000
300,000

26,000
103,000

429,000

01 A& HI

425,933

425,933




2 M &ot

N2 Gl 22|
R SlE=HelAlE AX (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O2HIBExZAY 425,933
— S4AXF ot AIE XA
425,933,000 « 1Al 425,933
= 300,000
o= 26,000
= 99,933
03 A& E2HH| 3,067 0 3,067
OZHIEBEZANY 3,067
— S2AXTF ol AlE EXAY
425,933, 000& *x0.72% 3,067
230t THOH CH Y| 618,875 523,276 95,599
401 AlEHIZL 201 Y| 618,875 523,276 95,599
01 Al&H| 615,000 520,000 95,000
Odlx=% &2 CCTV & AHatx A}
5,000& x5,000m 25,000
OBt4+E B2 AHYX U =4
5,000& x10,000m 50,000
OARE Gl AId 212837 & A2
150,000, 000& x 14! 150,000
OZEAEN T ol 2 HHAMIY(RHEE & FA,
&g, Qat0te 94) 200,000,000& * 1Al 200,000
O&H X202 oM7Y SHAY
100,000, 000& x 14! 100,000
OZ22Z20tE=HelAlE ATHMOHX &X23AHY
30,000,000 *304 &~ 90,000
03 Al 201 Y| 3,875 3,276 599
OZ2Z20tE=TTHAHHBIAIY AIE 2014
615,000, 000& *0.63% 3,875
HESHAY (MotE=TAFSA) 68,657 68,640 17
Jl2 &l 68,657 68,640 17
Jl2 &4l 68,657 68,640 17
201 et 37,959 37,959 0
01 AP 2t 2] d| 37,959 37,959 0
OFNEH 1,831,000& x17& 31,127
o=l 3,400
— EZ20H4H| 8,000 x 17 x25! 3,400
OZ A=A X 286,000& x1CHx12& 3,432
202 04| 26,520 26,520 0
01 2Ll 26,520 26,520 0
O2tU o4 vl 80,000 x17¥ x12& 16,320
O22 o Hl 75,000 17«8 10,200
203 R F & 4,178 4,161 17
02 AAADJALAH 2= XY 578 561 17
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Kio

Hl w

H3r
Wikd
RIS

Off &t 24

578
3,600
3,600

{ (&) - A A

- §e

-

.JCE;IJ:H

179

2%

34,000

KJ
KF
ok
<)l

-

<J

4]
RO

3,600

128

2l *

o

300,000




